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BEAERBEHEE LR OARSE T E 24782
B 0,8 38 e il ok B P S R 2 ) BB T (How
and Why), H 77 A VLK B % Bl Z Hi 9,

B 283 & 2 b5 HE s ik, 2 DLKS T 2 §F & (Measure-
ment) i fREF R 2 A B S EE R = LA R,
0T G RO SRk B B SR B 5 — [0, 6n 76 ) ok NE b &
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3 ZHEREMZHIRE

— B Z b5 B W 6L, 4 8 AR dn “IN” (Tnch), “F
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R B i AR A I ek DR TR b & 2SS4 ) A
A 3B 65,2 15 O0 4% BOR S 12 55 4% 3 W'{,’H:R5% s,
MRS 1760 g,

4, REMEWE B EE L0 WE

$(Length)Z % £, % 1A T B(Area)4s fi(Volumo), B I
(Mass)z 58§z, 1 % 35 15 4 #.6) o — 7 o #F 18 272126
W, — % (Quart) 57 5 3 7 Wh,ifi — i (Barrel) 45 31 5 11
(Gallon) 38 Ju % T % B 2 5,06 9 #% 5 — 3 W 3k — 51
7 WR 2 7K, 9 i s B 2B T 4 B, 75 A 96 R O
2 66 B A 22 0 3 78 X N.0% B B A7 3K R MR 9.
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Il
Il

$i(2 ¥]) hectometer 10088  #HE(4A %) centimeter
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DLW 80 HEEAH— & W nR
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— W (mi,) = 1.609 #f S i = .6214 mt
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K TR R A B (Density) — 18 DA L1 48 R 402
" i

SL3E B 2,80 5 o WA B R B S B W AL
— 3 H WK T 624 0 1 3 Wk 2 5 % B
624 . s gl

1k C.GLS, 00 L 3T 5 1 25 B A 2 BB % B
B Jie 2 9B LA B R0 K 2 3 E B S B S — S
— P 2 T A — ST 5 WK 2 B R R 4% B RE W,
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% 8 9,5 % B %% 10 7.)
— B2 ZRE B W
MM -, WM, N HE T co?
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28 th B0 AR B, S 15 IR) — VR I 24 7 7 1 B
2 I ¥ 0 HCRS — B E A T
WA SRR T 2 T R R T 2
T R SR 9 O K 0 O S K 2 A T

B U B 2 A 99 VR AR 45 s K 76 T BT i T
Bz 10 2 R TS

. HEPZEAN
Yk Gl R 8 JE R 3 T k2 88 IR ) (Total



W WMRZED 15

pressure) MBAHHUBMALEL TEHF WAL HE
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Ltz B 4 B 1.8kg/em? It ¥R IS M2 (P Ak B JE %
1A 1.026)

2, M MAWME LK (k&% FREGLEH,S
VZHERMBERBORAREEN L5FH
WX A B Z B .

8, Ml ¥ Z S VTS0 F T EE i F W 4 Ak i At e
U b jin2 § Z,

4, 1;—50!5&4‘7135?&?&34%?35!1&51:—&}2&18?
RZEXMEERZH.

b, BRERMBMSZ(NE@)p Z AB [ # # A4 A D& A&
A Z R 8 NABE E Z At @ oM %, sk (2) 2 4B
W Ok BF 2w It SR es3 B 8 2 #F Bt M —



